F_MH  RERmEE

AR BB IRTTRMHBRAT BIZESE ¢ LP5-113012
mEEE . ALTEARERHBREAT LA URE  24-LP5-02350

REE . &% & =28 - oMEh AR 113/09/12 -114/08/31
BR B 5 TE ==l [z hE U 5 EHh STIZEE(E

£ FRBay BN GT 2 A< B ER1~205>

! sRefEENs 1 BERESEEHE : 20 = || RSSO AR BB | 47923
£ _FRIABy M IR E R Hi<z] BEE[R1~2058> o

1 [ & =g
ERBERENE 1 ERESEEHE 20 = || PRsasesls =i 47,923
£ _FRIABay R I F R Fi<z] BEIE[E1~208> -

! sRefEENs 1 BERESEEHE : 20 8 SRl BR | 47923
£ _FRIBRay I M IR E R Hi<z] BEE[R1~2058> o

2 | fllicsipling oo s e g a =4
ERBERENE 1 ERESEEHE 20 = ASUSTOR ASES08T =i 85,197
£ _FRIgRay AR MM F A Fi<z] IBEIE[E1~208> -

2 EREBEBENE 1 - BERESESHE : 20 8 | auAPLPs2TS873A | R | 85197
£ _FRIBRay I M IR F 2 Hi<z] BEE[R1~2058> o

2 |55 e er o e g e a SAN XN5008T = 85,197
EXSEEENE 1 ERSSHEEHE 20 = B b
£ _FRIgBay M MNREF R A< BBE = R1~205> ——

2 ERBEBENE 1 - BERESESHE : 20 S || Symelegy DS B2 | 8197
H20 5 4ABay 48 B Y I FA 77 2 5 (Linux/Unix-like - 5)<z] B

3 g =EMR1~106> a ASUSTOR AS6504RD =5 66,028
BREBBEEHSE .1 - ERESEEE=: 10
B20 3 ABay 48 B Y INFETE 2 45 (Linux/Unix-like - 5)<3] 8

3 [ ZEMR1~108> & | QNAP LP5-3-TS-464U-RP =4 66,028
BREEEEHSE 1 - BEXESEEHE : 10
H20 5 4ABay 48 B Y I A 77 2 5 (Linux/Unix-like - &)<5] B

3 g =EMR1~106> a QSAN XN5104R =5 66,028
BREBBEEHSE .1 - ERESEEE=: 10
B20 3 ABay 48 B Y INFETE 2 45 (Linux/Unix-like - 5)<3] 8

3 ¥ =[R1~106> a Synology RS822RP+ =i 66,028

BEREEEEHE 1 - EXRESHEEHE : 10
#2830 ABay A BE [T N 75 2 #5(WindowsF &)<z] IEE = a4/
4 |fR1~108> HPE StoreEasy 1470 | /%=
os ) g e g S Fos)/iEs
BRERBEEHSE 1 - EXRESEEHE=: 10
280 aBay A S I N 17 2 45 (Windows F &)<z ] B E 2
4 |fR1~106> a PROFESS V9030 = 154,420
BEREEEEHE 1 - EXRESHEEHE : 10
120 3 8 Bay 48 B I I 77 22 4t (Linux/Unix-like S &)<7] #8
5 |#=fR1~105> a PROFESS P6040 =E 111,821
BEREREEHE 1 - ERESEEHE : 10
28T 8Bay A8 5 Ml I & 72 22 4t (Linux/Unix-like X &)<5] BB
5 #EMR1~108> £ | QNAP LP5-5-TS-873AeU-RP| =& 111,821
BEREEEEHE 1 - EXESHEEHE : 10
2R T 8Bay A8 & MY N2 72 22 4 (Linux/Unix-like - 5)<5] &
5 |#=FR1~105> a QSAN XN5112RE =E 111,821
BEREEREEHE 1 - ERESHEEHE : 10
12010 8Bay 48 S Y /N 52 72 2 # (Linux/Unix-like - &)<z] i3

o

154,420

5 #HEMR1~106> a Synology RS1221RP+ = 111,821
BREREEHE 1 - ERESEEHE : 10
1203012 Bay A8 S Y NN A 7% 22 48 (Linux/Unix-like - &)<5] i8

7 [ BEMR1~105> a ASUSTOR AS7112RDX =4 156,550
BEREREEHS .1 - BEXESBEHE : 10
223012 Bay A BE MY DI FETE 22 4 (Linux/Unix-likeF &)<5] B8

7 HEMR1~106> a PROFESS P6060 = 156,550
BEREREEHE 1 - ERXESEEHE : 10
?ﬂ%’i%fﬁIZBay%@ﬁﬁﬁﬁﬂﬂﬁﬁﬁgﬁéﬁ(Linux/Unix-IikeleE\)<§Tﬁ§ _ | aNaP tps-7-Tsh1277x0U- .

7 [ BEMR1~105> a = =4 156,550
BERERBEEHS .1 - BEXESBEHE : 10
12070 12 Bay 48 S Y I & 72 2 5 (Linux/Unix-like X &) <31 18

7 |#EMR1~106> a QSAN XN5112RE = 156,550



BEREREBEHE 1 - ERESHEEHE : 10
1203012 Bay 48 S Y N 7% 22 48 (Linux/Unix-like - &)<5] I8
2 E[R1~106>

BERZEEEHE 1 - ERXFSBEEHE : 10
#2030 12Bay B B I I e 7 2 5 (Windows F &)<E] B Bl =
fR1~108>

BREEEEH=S .1 - BEXRESBEEEE : 10

#2E 30 12Bay BB I NI R = 2 5 (Windows F 5)<E] B Bl =
fR1~108>

BEREEEEHE 1 - EXRESHEEHE : 10
122301 5Bay A B Y NI R 75 2 4 (2 B RR AE AR ) (Linux/Unix-
likeSE&)<z] BHE[R1~1058>

BREEEEH=S .1 - BEXRESBEEEE : 10

#2830 15Bay 48 BS I N0 12 2 48 (2 [E B AR AR ) (Linux/Unix-
likeE&)<z] BEER1~105>

BEREEEEHE 1 - EXRESHEEHE : 10

#2230 15Bay A B Y NN R 75 2 4 (2 B RR AE AR ) (Linux/Unix-
likeSE&)<z] BHE[R1~105>

BREEEEH=E .1 - BEXRESBEEEE : 10

#2830 15Bay 48 BS I N0 12 2 48 (2 [E B AR AR ) (Linux/Unix-
likeSE&)<z] BEER1~105>

BEREEEEHE 1 - EXRESHEEHE : 10

H29 3024 Bay A S Y NI FE 7Z 22 4 (Windows F &)<z] lB 8=
fR1~108>

BREREEHS .1 - BEXRESBEEE 10

B0 30 4Bay A S Y NN A 17 22 4 (WindowsF 5)<5] i 8=
fE1~108>

BEREEEEHE 1 - EXRESHEEHE : 10

2R T 24Bay A BE I N0 R 17 22 478 (2 [E RS AR AR (Linux/Unix-
like’F&)<7] BEEZRE1~108>

BREREEHS .1 - BEXESBEEE : 10

W20 3 24Bay A8 BE I N0 e 12 2 478 (= B BE AR AR ) (Linux/Unix-
likeSE&)<z] BEER1~105>

BEREEEEHE 1 - EXRESHEEHE : 10

T 28T 24 Bay 48 B P NI A 72 2 470 (= [E RR AE k) (Linux/Unix-
likeE&)<z] BHER1~105>

BREREEHS .1 - BEXRESBEEHE 10
BEZOTUFC to SAS(7200%2)/5C B A8 4R S £16GB/12Baysx X
O iEFt48Bay ik [E 5 fEF £ Hi<5] BEIZE[R1~1056>
BEREEEEHE 1 - EXRESHEEHE : 10
HEZETUFC to SAS(7200%2 ) /5L 1R A2 AR B =16GB/12BayEx A
OB 7t 48Bay i ik [E 5 17 2 Hi<s] BEI=R1~105>
BREREEHS .1 - BEXRESBEEHE 10
BEZOTUFC to SAS(7200%2) /e B A8 AR S £16GB/12Bays X
O iEFr96Bay ik [E 5 fE 7 £ Hi<5] BEI=E[R1~1056>
BEREEEEHE 1 - ERESHEEHE : 10
H2E3UFC to SAS(720088)/RC B A2 A8 S 216GB/12Baymx X =
S &7t 96Bay s [E D 1F A Fi<r] BEEFR1~1056> HPE MSA2060
BEREREEHS .1 - BEXESBEHE : 10
HEZOTUFC to SAS(7200%2) /1B Ae 42 S £16GB/12BayE K
O iEFt96Bay ik [E S fE 17 £ Hi<s] BEIZE[R1~106>
BREREEHE 1 - ERXESEEHE : 10
HEZOTUFC to SAS(7200%2) /50 1B AS 4R S 232GB/12Bayi X
AiEFE150Bay A FRfES 7 2 4 (2 B SR 1R AR <5 ] FE B2
fR1~105>

BEREREEHE 1 - ERESBEEHE : 10
BEZOTUFC to SAS(7200%2) /1B AS 4R S 232GB/12Bayi X
AiEFe150Bay A FRfES 7 2 4 (2 B R 1R AR <5 ] FE B2
fR1~105>

BREREEHE 1 - ERXESEEHE : 10
$Z2TUFC to SAS(720082 ) /AL IR B 42 S =64GB/12BayER N
OB 220Bay AR fEA 7 2 40 (2 B SR IR AR <5 ] FE B2
fR1~108>

i

Synology RS2423RP+ =4 156,550

FI0K /25
S /iER

op

HPE StoreEasy 1670 243,770

o

PROFESS V9060 =4 243,770

op

PROFESS P6080 =4 197,018

NAP LP5-9-TS-h1887XU- o
a RP =4 197,018

o

op

QSAN XN5116S =4 197,018

o

Synology RS4021xs+ =24 197,018

HPE StoreEasy 1670 Exp | /N /2=
MS WS 10T22 HE/ER

o

306,709

o

PROFESS V9120 =4 306,709

o

PROFESS P6120 =4 194,888

o

QNAP LP5-11-h3087XU-RP | = 194,888

op

QSAN XN5124S =4 194,888

o

ASUS VS320D-RS12 =i 266,241

op

QSAN XS1312D =4 266,241

o

ASUS VS320D-RS12 = 330,138

op
i
B
o
%

330,138

o

QSAN XS1312D =4 330,138

op

ASUS VS320D-RS12 =4 356,763

o

QSAN XS1312D =2 356,763

op

QSAN XN8116D_8C =2 463,259



16

16

17

17

17

18

18

19

19

19

20

21

21

22

23

24

24

25

26

BEREREBEHE 1 - ERESHEEHE : 10

H28 TR C to SAS(1000088) /50 B AL 42 S £16GB/12Bay & K
OB Fr96Bay i ik [E 5 /17 £ Hi<s] BEIZER1~105>
BERZEEEHE 1 - ERXFSBEEHE : 10
BEZ2TUFC to SAS(1000082) /5L 18 FE 42 &S =16GB/12BayE A
O iEFt96Bay ik [E 5 17 £ Hi<s] BEI=E[R1~106>
BERHZEEEHE 1 - EXRFSBEEHE : 10
#Z2TFC to SAS(1000082) /5018 FE 48 & =16GB/12BayE A
O[#E78192Bay iR fEA T 2 47 (2 B BRI IR)<z] BEE
fR1~108>

BERRZEEEHE 1 - EXRFSBEEHE : 10
$Z2TFC to SAS(1000082) /5018 FE 48 &S =16GB/12BayEx A
O[iE78192Bay iR fEA T 2 47 (2 B BRI IR)<7] =
fR1~108>

BERHZEEEHE 1 - EXRFSBEHE : 10
#Z2TFC to SAS(1000082) /5018 FE 48 &S =16GB/12BayE A
O[#E78192Bay iR fE AT 2 47 (2 B BRI TR)<7] BEE
fR1~108>

BERRZEEEHE 1 - ERXRFSHBEHE : 10
HEZOTUFC to SAS(AIl Flash Disk)/zC S 242 S =16GB/12Bay
B A O & 7T 48Bay i iR fEA 7 A H<F] BB ER1~105>
BERREEEHE 1 - EXESEEZE : 10
#2330 FC to SAS(All Flash Disk)/sC (B FE 42 A =16GB/12Bay
A OB 7T 48Bay i i fE A7 A i<z ] BEIER1~108>
BERRZEEEHE 1 - ERXFSBEEHE : 10
H20T0FC to SAS(All Flash Disk)/aC 1B e 48 A £16GB/12Bay
B A O {E7T120Bay it (a8 R 7 A Mi<E ] B EI=R1~108
BERREEEHE .1 - EXESEEZE : 10
#2230 FC to SAS(All Flash Disk)/sC (B FE 42 A =16GB/12Bay
BRA OB 120Bay ik (a3 @7 A M<E] BB =PR1~108
BERRZEEEHE 1 - EXRFSBEEHE : 10
#2090 FC to SAS(All Flash Disk)/aC 1B e 48 A £16GB/12Bay
A O E7T120Bay it (a3 R F A i<E ] lBEI=R1~108
BEREEEEHE 1 - EXESEEHE : 10
HEZLT0FC to SAS(All Flash Disk)/5C B fe 42 A = 64GB/12Bay
ERA D87 192Bay ik (3| 7 A Mi<E] B EI=R1~108
BERHZEEEHE 1 - ERFSBEEHE : 10
B2 FC to SAS(10000%2)/5C 2 A8 42 S £32GB/12BayEx AN
A&7 150Bay A fRfE Y 7 R <5 ] BEIER1~105>
BEREEEEHE 1 - EXESEEHE : 10
HEZETUFC to SAS(1000052) /50 1R AR AR S =32GB/12BayEx A
A[#EF150Bay iR fE S 7 fi<z] BEER1~105>
BERHZEEEHE 1 - ERFSBEEHE : 10
B2 FC to SAS(10000%2) /50 2 A8 42 S £64GB/12BayEx AN
A&7 220Bay R fE Y 7 2 i<z ] BEIER1~105>
BEREEEEHE 1 - BEXESEEHE : 10
HEZETUFC to SAS(1000082) /50 1R AR 4R S =256GB/24Bay iy
AN OIE 7 240Bay i ik fE 5 17 2 i<z] BEIE R1~105>
BERREEBEHE .1 - EXESEEEE : 10
F%Z2T0FC to SAS(10000%2)/5C IS EE 42 & =128GB/12Bay&x
AR OJ#E7T400Bay 2 5 T\ (Unified Storage) 4% fE 5 17 %
<zl EBEER1~105>

BERREEBEHE .1 - EXESEEEE : 10
FEZ2TFC to SAS(10000%2)/FC IS EE 42 & =128GB/12Bay&x
K OJ#E7T400Bay 2 5 T\ (Unified Storage) 4% fE 5 17 %
<zl EBEER1~105>

BERREEBEHE .1 - EXESEEEE : 10
$%Z2T0FC to SAS(10000%2) /50 B R4 & =128GB/15Bay &z
AR OJ#E7E500Bay 2 5 4 (Unified Storage) 4% fE 5 17 %
w2 E SRR <] BEER1~105>

BERZEEEHE 1 - ERXZSBEEHE : 10

2O iSCSI/aT 1B R 42 &5 =16GB/12BayEx A O] #E 7T 96Bay
RERER]IBEER1~1058>

i

op

op

op

op

o

op

o

op

o

o

o

o

o

i

o

i

op

ASUS VS320D-RS12

QSAN XS1312D

ASUS VS320D-RS12

HPE MSA2060

QSAN XS1312D

ASUS VS320D-RS12

QSAN XS1312D

ASUS VS320D-RS12

HPE MSA2060

QSAN XS1312D

QSAN XN8116D_8C

ASUS VS320D-RS12

QSAN XS1312D

QSAN XN8116D_8C

HPE Primera C630

DELL Unity XT 380

QSAN XN8116D_8C

QSAN XN8126D_8C

ASUS VS320D-RS12

S g/
i

£/
i

S/
JIIp:

BARATE/
EWH

292,865

292,865

356,763

356,763

356,763

388,711

388,711

394,036

394,036

394,036

596,379

378,062

378,062

495,208

958,466

649,627

649,627

670,927

191,693



26

27

27

28

29

29

29

30

30

31

32

32

32

33

33

33

33

34

34

35

BREBBEEHE 1 - BERESEEHE : 10

#e2eiscs|/a iR e 42 & £ 16GB/12Bay &R A 0] #E 7t 96Bay

EERB<E]IBHERI~0G>
BERREBEHE 1 - BERESBEHE : 10

2O iSCSI/AT B FR 42 &5 =32GB/12BayEx A O] #E 75 100Bay

RERA(ZERER) <] BHERL~ 105>
BEXRREBEHE .1 - ERESEERE : 10

o

H20 3 isCSI/ae R A2 42 B 232GB/12Bay & A O] #E 75 100Bay

W7kt (2 B RRIE R <F] BB ER1~106>
BEREEEEH=E 1 BERESEEHE= : 10

20 iSCSI/AC 1B 2 42 A =64GB/12Bay B A O] #E 75 100Bay

HERAZERER) <] BHERL~ 105>
BEXRRBEBEHE .1 - ERESEERE : 10

o

= P& ZETiSCSI/AC IR AR AR B =64GB/12Baysr AN O FE R

100Bay i F a1 (2 E R IERE <5 ] B8 = R1~108>
BERREEEHE 1 - EXESBEEHE : 10

= PO iSCSI/ AL 1B e A2 5 =64GB/12BayR N O FE 7T

100Bayf# 752 15 (S BB IE I )<z B HER1~105>
BEXEEEEHE 1 - EXESEEHE : 10

= P& ZETiSCSI/AC I8 AR AR &S =64GB/12Baysr AN O FE R

100Bay A TZR2 (2 B B IE 1)< ] BHER1~108>
BERREEEHE 1 - EXESBEHE : 10
28 iscs|/se B e A B 2128GB/12BayEx A O] & 78

400BayZE 5 T (Unified Storage) 7 a2 i<z ] BEI=ER1~10

BREREEHS .1 - BEXRESBEEE 10
2R FiscSI/aL R Ae 42 A =128GB/12BayEx A O IE 7S

400BayE & 3 (Unified Storage)f# 7% <] BB EI=E1~10

BERERBEEHS 1 - BEXESBEHE : 10
FEZETiSCSI/AC B A2 42 & =128GB/20Baysx A OJ E TS

500BayZ 5 = (Unified Storage)f# 7% 5 (= [E SR IE 1K) <5 ]

B =R1~108>

BREEEEHE 1 - BEXRESBEEH= : 10
#2820 FC to NVMe (All Flash Disk)/sCBfe@ R S
128GB/20Bay ik [E 5 7 2 Hi<E] lBEE[R1~105>
BREREEHS .1 - BEXESBEEHE 10
220 FC to NVMe (All Flash Disk)/sC B2 2 R =
128GB/20Bay i it fE 5| E A H<E] RS R1~106>
BREREEEHE .1 - BRESBEEH= : 10
#2820 FC to NVMe (All Flash Disk)/sCiEfe@ R &
128GB/20Bay ik [E 5 7 2 Hi<E] lBEE[R1~105>
BREREEHS .1 - BEXESEEHE 10
220 FC to NVMe(All Flash Disk)/FC B AR =
192GB/24Bay i iR fE S| B E A F <] BEER1~106>
BREREEEHE .1 - BRESBEEH= : 10
282 FC to NVMe(All Flash Disk)/sC B fe/A s =
192GB/24Bay ik [E 5| 7 2 Hi<E] lBEE[R1~105>
BEREREEHS .1 - BEXESBEHE 10
HEZ9TUFC to NVMe(All Flash Disk)/aCIB e 2R =
192GB/24Bay i iR fE S| B E A H <] BESR1~106>
BREEBEHE .1 - BERESBEEH=: 10
28 ZFC to NVMe(All Flash Disk)/sC B e/ s =
192GB/24Bay ik [E 5| 7 2 Hi<E] lBEE[R1~1058>
BEREREEHS .1 - BEXESBEHE 10
HEZETFC to NVMe(All Flash Disk)/FCIEAE A S =

256GB/24BavEx N O] #& 78 96Bav ik iR fE 2 7 2 i <F] BB &Y

BEREEEEHE 1 - ERESHEEHE : 10
20T FC to NVMe(All Flash Disk)/FC B2 AR =

256GB/24BayEx A O] #E 75 96Bay i i [ 1| 2 17 2 #i<5] BB &L

oo -

BEXREBEEHE 1 - ERESBEHE : 10
JeHBE R R <] IBRIER1~105>
ERREBEHE 1 - BERESBEHE : 10

o

op

o

op

o

op

o

op

o

o

op

o

op

o

op

o

i

o

op

op

QSAN XS1312D

ASUS VS320D-RS12

QSAN XS1312D

QSAN XN8116D_8C

DELL Unity XT 380

HPE Alletra 5010

QSAN XN8116D_8C

DELL Unity XT 380

QSAN XN8116D_8C

QSAN XN8126D_8C

HPE Alletra 6010

PROFESS F3030

QSAN XF3126D

HPE Alletra Storage MP

HPE Primera A630

PROFESS F3030

QSAN XF5126D

HPE Primera A630

PROFESS F3030

HPE HSTNM-NO043

N
EWE

SSEl/ARN
35

==

BoRAT/

==

=/=

SSEl/ARN
35

REze/R
K

£/
i1

S/
JIIp7:

==

#Eze/AN
3K

191,693

255,591

255,591

378,062

686,901

686,901

686,901

660,277

660,277

686,901

820,021

820,021

820,021

926,518

926,518

926,518

926,518

1,544,196

1,544,196

372,737



